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KS2 Arithmetic 

9847 
X  89 

 
 
 
 
 
 
 

8679 
X  67 

 

8976 + 9489 
       
                    

9310 - 2989 

 

6984 ÷ 9 
 

9312 ÷ 8 
 

9947 ÷ 7 
 
 
 
 
 
 
 
 

84.12 + 39.541 
 

82 – 49.76 
 

45 x 0 = 

1 x 68 = 

 19 +       = 34 

    63 -       = 21 

- 28 = 27 

33 + 92 = 

      122 - 82 = 

7568=7000+          + 68 

 

MMDCCII= 
 

3819= 
 

13.41+9.81-17.71 
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42% of 660= 69.5x100 =   
576 ÷ 100=   
92.7 x10  =   
88.3 ÷ 10 =   
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24÷8 + 5x9 = 

2 x 3 – 15 ÷ 3= 

0.6   49 = 

0.2 x 72= 

-9+17= 
15-27= 
-6+6= 
-15-15 = 
-45+52= 
-8-17= 

-12 x -7= 
-5 x 7 = 
-6 x -3= 

-25 ÷ -5 = 

-30 ÷ 10= 

64 ÷ -8= 
 

4554 ÷ 23= 

 

 

 

    

    

    


